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Full Marks : 70
Pass Marks : 21
Time : Three hours
The figures in the margin indicate full marks
for the questions.
Q. No.1& Q. No. 2 cmfry 1 mark each ‘ 1x8 = 8-
Q. No. 3 (a to j) carries 2 marks each ' | 2x10 = 20
Q. No. 4 (a-to .l-c) carries 3 marks each (any nine) 3x9 = 27
Q. No. 5 (a to d) carries 5 marks each (any three) ' 5x3 = 15
' | Total =

70
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1.  Choose the correct answer from the four alternatives given below :
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1x4=4

In which of the foIIowmg continents the growth rate of population is
highest ? ; 1

eaacamwam@mww—emﬂem:ﬁﬁaﬁﬁ*ﬁﬂﬁ¢9

(i) Europe
2Tl
(i) Africa - .
izt
(iii) South America
iR R RIEss
(iv) Asia
gfomt

Which one of the following figures represents the workmg age-group
of the population ? 1

Wmmwxwﬁwﬁwﬁ%m

(i) 15 to 66 years
¢ H vo 27

(i) 15 to 65 years
Seq A ve TN

(iii) 18 to 64 years
St 2] v8 %Y

(iv) 15 to 59 years‘
S¢S "ﬁT_QR\ =1
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(c)  Which one of the following scholars introduced the concept of Human

Development ? 1

fEfRe Ram eem @aE TRe [{Er gRaE ARbf Wwe

(i) Prof. Amartya Sen
AT OS] (O
(i)}  Ellen C. Semple
qreTw . e
(iti) Dr. Mahabub-ul-Haq
T I
(i'v') Ratzel | " #

BASEE|

N

(d) India’s population as per 2011 census is — 1
30%Y 5 (ST SEPie OIeddq SR T —

. (1) 1028 million
soxb Y@

(it) - 3287 million
opa [ g

(iii) - 3182 million
03ty Yo

_ (iv) 1210 million

- 33d0 [Agw
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2. Answer very briefly :

Ix4=4

WS 5F B6l o ¢

@)

(b)

(©)
: 1
& @R e T w Wfe T I @ e
(d) What is agro-based industries ? ' |
TR T fre
3 Answer in brief : ' '} : 2x10=20
5Y %@1 forat ¢
() Write two hill districts of Assam. . 2
S 73 SR e A e
(b) Which two places were connected by the first railway line in India ?
_ _ .
ORGP 797 21 (RN @l AT AT =1 23w 2
() Give two examples of non-metalic minerals. | \ 5
Qe Afner iy 7oy Taset |
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In how many categories the urban centres have been classified by
1

census of India ?

ORYY EFHTE AR AR C&tTEﬂ@ﬁ—@wmv

In India, in between which months in Enghsh calender the Kharif

crops have been cultivated ? 1

Wﬂfﬁzﬁwc#ﬁ%ﬁmmwh—ww?

Which type of energy sources are called sustainable energy sources ?.



. (d)

(e)

(9

()
(i)

@

Name two Iron and Steel plants in India set up during the Second
Five-Year Plan period. 2

faSTa AR AR FETe Ses FFS @R 757 -SRI TR T
v o ' ’

Name fwo major industrial regions of India. S
IO b7 4 SrfaRs SieeeTE i e |

Which two places of India are connected by the National Waterways'
No.27? - 2
TROT 3N T TN (@R 797 O A dRme

Name two major sea ports located in western coast of the Bay of
Bengal. - ' 2
A ~AR6T ToETs SRFS 757 [ FY IWEE AN Bt

Mention two main sources of air pollution. : 2

Y AR 77 YA TR Bl ]|

Name fwo primary economic activities. . 2
i3y e Sdftafes 3fes am B
Name foo animal-based industries. e ® 2

e SRS 77 Srmie i e

4. Answer the following questions in about 100 words : (any nine)

3x9=27

| e fiml epTIEe elferb Ted Soob! X foews finl ¢ (Rt 751)

()
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What do you understand by Planned Settlement ? 3

P -

AfiFiEre S e & e e
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(b) Explain the importance of Rural-Urban populahon composition. 3

S5 & SR ey G |

(c) Write the advantages and disadvantages of Air Transport System.

3
SIrIeY ARER AR S SR e
(d) Write the importance of Iron and Steel industries. 3
Gl SR SR T ST 7l |
(e) Discuss the problems of water resources in India. | 3

OIS GEP™ 1Y PR DG |

O‘) What dc; you understand by non-conventional energy sources ? 3
SIS X SPrR gEe [ e

(¢) What do you understand by Mass Co@unication System ? | 3

AT N Awhs e & ge e

() Mention the favourable geographlcal cond1t10ns found in Assam for

jute cultivation. ' 3

SRTIS SR (AT AR L SgE (SR SRR T <4 |

(i) Write the main characteristics of climatic seasons of Assam. 3
SPTR TERIEARE IR YU R B
(J) Write a note on the tea industry of Assam. ' -

ST B1Z Trapele @oiqe ol (G T |

(k) Write the characteristics of the alluvial soils of Assam 3

WWWWMl
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5. Answer the following questions : (any three) 5x3=15

TS T enpTgRs B fral 3 (Rt fofao))

(1)  Explain the characteristics of the four pillars of human development.
| 5

T [ B e @ EpnE i =0

(b) Explain the geographical factors inﬂuencihg the distribution of
population. ‘ A

TR RIS 2o (ATt (SNalfers IRTHE A 4 |

(c) What do you understand by tourism industry ? Discuss the factors

affecting tourism industry. ' 2+3=5
A5 Tragtel e & o 2 oG Tpiere e RS a1 TR SICEoAl

|

(d) Draw an outline map of India and mark the location of the following

therein: . . ; ' - 2+3=b
IR AN (TYFIE 99 THDE T TN B ©I0 &ors [aIaIes Sz
(weql : ) '

(1) | A sea port in the west coast -
ART T[geTe A Bl YWV
(i) A petroleum réfinery
<ol NG (oF eI

(iii) An iron and steel plant.

Bl (&7 W= S e |

32T GEOG - : , [71



